
:
x j -U3CS SUBTRC CCOS

1(3+4 + 3X = 637 + 2Ys =

11- 1 =25 -

j =3H - z =

2)2(8 + 538 = 738 + 573 =

3)(87 + 357= 89% + (7/8 = show your working out

434 + 734 = 9)8(3 + 327 = 15 - 2 = 28 - 5 = 35- 2=

5338 + (44 = 18)653 + 142 =

SUBTR C -U3CS SUBTR C -U3CS

1)7+- 34 = 637 - 2Ys =

1)378 - 58 = 5) 1'2 - 3 =

2)248 - 138 = 778 - 553 =

2)53/4 - = 6)153 - "a =

3)(877 - 357= 89% - 17/8 =
3)437 - 27 = 7)2+ - 5 =

434 - 234 = 9)83 - 32/7 =

4)338 - 38 = 8(2x - z =

5338 - 14 = 18)653 - 142 =


